EXTHHEE OOT|ERX

BEHEB LFEEREWN) | MIEERA B iR (D) - (B) &=
< Y—ERFEERBDOE >
< IR#E >
SBINGS 24, 900 29700 ~4.800
— S BERE 24, 900 29700 ~4, 800
BRERERY SIS 1,170, 000 935, 000 235, 000
i B BT A1 4 B & AN 3S 1,170, 000 935, 000 235, 000
EBWS— MR- UISEE S LRSI 1,170, 000 935, 000 235, 000
ZREIRE 2,161, 500 2. 373800 ~212. 300
BT 2 & INES 2,161, 500 2,373,800 212, 300
VA= AME LA —BEZHERE 2,161, 500 2,373,800 ~212, 300
EETTE 11, 411,502 13,291,813 1,880, 311
FIFE AL IR 28 9,127, 306 11,030, 462 —1,903, 156
FHEHRE 899, 514 1095, 278 ~195, 764
MHEZIRE 1,384, 682 1166, 073 218, 609
— E R EBREE (1) 14,767, 902 16,630,313 1,862, 411
< &m >
ANEE 2. 350, 493 1763, 240 596, 253
FEHWELS 2, 355, 425 1,756, 454 598, 971
FEHBEER 1,722, 804 1,487,916 234, 888
FEHBEET Y 632, 621 268, 538 364, 083
R B 4,068 6, 786 2,718
EE3 10, 959, 069 12,693, 723 —1, 734 654
KBS EBE 240,787 211, 651 29136
PRE 2 290, 026 263, 353 26673
EmREE 290, 026 263,353 26673
HERERRE 150, 429 59,997 90, 432
R 366, 320 367, 730 1,410
EETES 17,105 127, 600 ~110, 495
B EWRE 63, 412 67,577 ~4,165
EBERE 843,395 952, 010 ~108, 615
FHH 25, 080 25080 0
BH® 8, 148, 939 9,920, 892 1,771,953
MHEZZH 813,576 697,833 115, 743
EX i 705, 033 565, 000 140, 033
HRAR 705, 033 565, 000 140, 033




RSB A 10, 000 0 0. 000
EBRAER 10000 0 10000
ER&ER 10. 000 0 10000
ARIEAE 8,267 178 8. 214, 356 52. 822
EERNS SRR SRR =3, 267,178 =3, 214, 356 "57. 822
J—E R EBE M 2 T4 033 59 15021 963 ~983. 368
Y EREBEREEG-()-O) 734 307 1. 608, 350 ~874. 043
< Y—EXFHNERBOE >
< WE >
LGRS 2540 33 7 502
F— E X EBs G @) 2. 540 38 2502
< BE >
H—E R FENE R () 0 0 0
Y E R BB EREE (6)=(4)(5) 2,540 33 7502
EEEREE (D=3 6) 736, 847 1603, 383 877 541
< YRS OE >
< WE >
YRR ET (8) 0 0 0
< BR >
EEEETHIE - Lois 0 1 -1
HEERETHE - Lo 0 1 -1
ERIE R ) 0 i T
RIS E%E (10)=(8)-(9) 0 -1 1
LEERERER (=) (10) 736, 847 1,608, 387 ~877. 540
< RHERENSEEZEOR >
NREE BB REE (1) 3,337, 468 1262, 081 2075, 387
L RBREIERER(13)=(11)*(12) 4074 315 2870 468 1203, 847
HEAREHERZE (14) 0 0 0
2 % ExER%A (15) 0 0 0
Z QMO 2 AR (16) 0 T267,000 1267, 000
LN —BERBARE 2N 0 1267, 000 1267 000
OO RT 2R TE(1]) 500,000 300. 000 2200, 000
UL —ERBARE R 500, 000 300 000 =200, 000
RIPIRRLTE BN B 2= 28 3,474, 315 3,337, 468 136, 847

(18)=(13)+H+(15)+(16)-(17)




